675%:% (55<
3$1&%.(6

V =+ ié 22 02 >02>+6 1C+E « ECNiO>%e2+-O N Z REE2>
>02 /2 E2 O6 6 2 E2D2 626>« C Eoe 2 NZ 1Q2>CQGCH>2 EC
Eée Z C c60 2 =Y + 6>02Ne C6> & 20 >0060038+ci62Z{y
6+EO02 /102 602w+ 1 ze fCi22 E >0 > Cc NO2 i /102 602W=

. _ XcVUZV ed

7TEVS EDNLQJ SRZGHU
7TEVS VXJDU
WVS VDOW

ODUJH HJJ

[LIKW SDQFDNH VIUXS
1RQ VWLFN FRRNLQJ VSU

5ZcVTeZ d \N:e=0N &2 10 2i+2]0
%HJLQ E\ ZDVKLQJ KDQGV 7KHQ ZDVK VWUDZE KOO AVWIQ FRRI®
VWUDZ GLFH 6HW DVLGH
OL[ WKH IORXUV EDNLQJ SRZGHU VXJDU DQGQVIERWQA Q D PHGL
%UHDN HJJ LQWR VPDOO ERZO :DVK KDQGV LPRHGLDKY HOU N WK
PLON DQG RLO WR WKH HJJ DQG VWLU ZHOO
$GG HJJ PL[WXUH WR WKH GU\ LQJUHGLHQWYV X QWIL® DLONK JB L[LC

5RFNGDOH(DWV$5DLQERZ _ 8*$([WHQVLRQ _ +HL



